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Class : One
Subject : English
Name of the books : 1) English for today
2) Active English Book- 1- D.H. Howe
3) Active English Word Book- D.H. Howe
Half Yearly Examination Final Examination
Working Days : 90 Working Days : 70
Total Class : 90 Total Class : 70
Lesson/Topic Lesson/Topic
1. English For Today (E.F.T) 20 | 1. English For Today (E.F.T) 20
Unit : (1-16), Page : (1-32) Unit : (17-30), Page : (33-66)
2. Active English Book — 1 30 | 2. Active English Book — 1. Items 20
Items (1-8), 15, 16, 17, 20, 21 (22-25) 28, 29, 30, 31, 32, 36, 37
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3. Active English Work Book — 1 30 | 3. Active English Work Book — 1 20
Items (1-8), 15, 16, 17, 20, 21 Items (22-25), 28, 29, 30, 31,
4. Smart Hand writing 08 32,36, 37
5. Class Test : 02 | 4 Smart Hand writing 08
5. Class Test : 02
Marks Distribution
Half Year Examination Final Examination
1. Word meaning in English 10 | 1. Word meaning in English 10
2. Word meaning in Bengali 10 | 2. Word meaning in Bengali 10
3. Make sentence 10 | 3. Make sentence 10
4, Question answer (Textual) 10 | 4. Question answer (Textual) 10
5. Rearrange the letter and 10 | 5. Rearrange the words and 10
Make word Make sentence
6. Fill in the gaps (Textual) 10 | 6. Fill in the gaps (Textual) 10
7. Translate into English 10 | 7. Translate into English 10
8. Translate into Bengla 10 | 8. Translate into Bengali 10
9. Rhyme 10 | 9. Name of vegetables 10
10. Name of 12 months 10 | 10. Rhyme 10
Total | 100 Total | 100
* 85% out 100 marks will be 85 | * 85% out 100 marks will be 85
taken from Half Yearly exam. taken from Annual exam.
* Class Test 10 | * Class Test 10
* (Class Attendance 5 | * Class Attendance 5
* Grand Total 100 | * Grand Total 100
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